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However, not because of the traffic — Kb RWNT 290n AN

OVERVIEW

The X713 challenged the view of X237 who taught that the reason the walls need to be
separated by N12X "7 is because we want that there should be traffic between the walls
(xwn7) which will solidify the ground between the walls and prevent them from
collapsing. The X n3 challenged X271 from the X9°0 of our 7wn which states that
when erecting a wall near the neighbor’s existing wall which has windows, one must
distance the new wall from the windows NM12X '7 (and as the Xn™72 explains) in order
not to darken the windows. The X3 infers that the only reason for the 7pnan is ROW
99X, but otherwise there would be no need to be P72 on account of Xwn7. Prior to
this question the X3 surmised that in an old city, a wall of a 7% does not require
Xwn7,' only the wall surrounding a 713’3, however in a new city even the wall of a
7311 requires XwN7.? Based on these qualifiers, mo0n has a question.

n1voIN asks:
= 4MW) 9993 199INRT N1DIDY 9NN ON)

And if you will say, but let the X723 answer that the 71wn regarding the windows

is discussing an old city, when there is no need for xwn7, therefore the only reason to
distance Mn& '7 from the windows is 208> Row Dwn!

N190IN answers:
- 590 HEN D99 NV PIMIY 299 57393 7 NYAT BN 13529 N

And the n''1 answers that the wall of a house is like the wall of a garden, people
do not walk immediately adjacent to the wall, because they put a bed and
utensils near the wall -

NN offers another distinction between %77 and nN°2:
- %22 19 PPRY N1 D297 RUNT RIN 98NAT 91219 VI NI

! The ground has already been hardened by the many years people have been walking there.
2 People do not walk as much in a garden (because of the plants growing there) as they do in a 731 (which is made
for general use).
3 See the 1"am77 "o that according to 27 our 7wn is by a mw> v (therefore the distancing is only by %% Ymd)
however according to X’y " the mwn is by nwn 1y (therefore the distancing is [even] by 1x¥n 9nm1d). The question
from Mn°n (presumably) is (only) according to RYWIX .
4 See ‘Overview’ (and footnote # 1).
5> See footnote # 2. People make use of the space near the outside wall of the house, therefore people do not walk
adjacent to that wall, so even in an 7w> 7'V there is still a need for Xwn7 by a n°a >nm>..
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And furthermore, one can say that by a 9xn (which serves many houses) there

is much traffic, which is not the case by a house, which only serves a single family.
Therefore because of these two reasons, even if it were a 71w° 7°v there would still be a need for
XwN7 and the s'&773 question would remain.

mooin offers an alternate approach:
= SRWIT NIIIT NWIN 9993 99WD 1D RNT NN PNYY 13929

And it appears to the >''9 that the X123 prefers to explain the case of Mo even
by a new city (where XwN17 is usually required) for the X723 prefers that the X5°0 of

mN°n should be similar to the X@9, which is in a case of 7w Py -
- YRTIN I YN DX PPININT INYIN 1)

And similarly regarding that miw»n which requires distancing the wall from the

gutter, the & also prefers that it is in an 771 Y just like the previous 71wn -
:72YN 10 BNDN NN PPININT XINN BINI2 NPDINT 23 Y N

Even though that the miwn of 92w 32 2917 R PPPo7R interrupts between our
mwn and the mwn of 791, nevertheless the & na still prefers that also the 73wn of 7%° A is by an
I Y.

SUMMARY

We cannot answer that the 7wn of MmN is by an mw° 7%y, for a n°2 YM> is more
like a 1713°3 Pn1> (than a 7%n 2M2) because there are items near the M3 which prevent
XwN7, or there is not sufficient X117 by a n°2 Hn1> (less people) as there is by a 2>
7xn (more people). Alternately we prefer the X9°0 (and the subsequent 71wn) to be
like the Xw"1 by an 7w 7Y,

THINKING IT OVER
Why did X°ywIX "M assume that the X1 is discussing an qwIn 1°y?8

® See footnote # 3. The entire question was only according to X°¥2IX "1 who maintains that the X" (and the X9°0) is
discussing an mwn 7. According to 21 there never was a question from nnon.
7 The x7»3 shortly asks an additional question on X271 (regarding the requirement for Xwn7) from this 73wn which
states that one must distance a wall from a gutter N%X "7 in order to allow him place for a ladder to clean his gutter.
The question is why mention the ladder; he needs to distance N1X "7 because of Xw117. Seemingly here too, the X3
could have answered (as N901n asked previously) that we are discussing an 712 7°¥ where there is no need for Xwn7.
According to the >"1 the answer is the same, for the X1 prefers that this 71wn as well should follow the pattern of
our 71wn, which (according to X*YwX) is in an w77 Y.
8 See nwn noma.
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